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s Fuler's method *

define the DE

= Q(t,y) t*(4-y),

1) = 0; %$initial time é——-dﬁQ@W‘$‘k' 't\Vhe_ VQlU.e_

1) = 0; % initial conditionc H FW'?*' \1_\‘q\‘ 2

define h

= 0.05

how many steps Q&Mw S a$

msteps = round(2/h); —_

TeTep ’ nec sar? 1o teads T=2

s This is Euler's method = '&-o\o\ + A

r-m = l:numsteps
t(m+l) = t(m)+h; VI 20X G TTCRY
gmtl) = y(m + b E(Em,ym);  hews Yold b oty oo

1d

plot the results
L gure (2)
lot (t,y, 'marker’', 'o")

- dad or muAa W
= linspace(0,2); . '
‘rue = 4.% (l-exp(-t."2/2)); CQ\CLJO«J{Q '{'\\LS CA ‘H—L
ne (t,ytrue, "color', 'r") ARy lectwt 2
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